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1400 ;_ )r;ear?:m(.-4.-25:é60)%
1200 width: (30.88+Tf34)%
1000F- 3
800F- E
600F- | E
400F- | E
0 1 2 3 4 5 6 7
p‘j‘ /p;‘?f (20< p’Te‘[GeV] <40, Inl<0.8, 0.10<m-Ap<0.20)
Entries 24001
2200F SR i
2000 E— anti-KT R=0.4 EM+JES _E Overflow 0
1800 :_ inclusive, Pythia _:
1600F =
1400F- =
1200F- 3
1000F- 3
800F- =
600F- E
s00f e
200 ;_ )r;ear?:Of(.-Z.ISHE:28)°/o
" —— Lt % — "'1' — 'é'v'v.am.édugs;u#)%

1 2
P /prTef (20< p’Te‘[GeV] <40, Inl<0.8, 0.10<-A$p<0.20)
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F T T T T T T T T Gaudslah T et °
2000F anti-K . R=0.4 W*""é§3 2.03 —JOvertiow 0

F _— mean: (-3.23:037)%
1800F inclusive, Pythia  ith: (29.60=G331)%
1600 e
1400 =
1200 =
1000F =

800k =
600F -
400 =
200F =
O a P R P T S T N T N N N NN NN RN A R R A 3

0 1 2 3 4 5 6 7

pJTet /p’Tef (20< p“Tef [GeV] <40, Inl<0.8, 0.05<r-Ap<0.10)

: LI LI DL N L R NN N LR B L N B : Underflow L]
2000 :— anti-KT R=0.4 EM+JES —] Overflow 0
1 800 ;— inclusive, Pythia —;

1600 3
1400 =
1200 -
1000 Modified Poissah
800F %2/n,: 0.67 3
= mean: (-0.78=P8)%
600 width: (29.75T330)%
400 =
200 =
0: cl N TP B PP B
0 1 2 3 4 5 6 7
pJ:t /prTef (20< p“T‘*f [GeV] <40, Inl<0.8, 0.05<r-Ap<0.10)

- T 1T T T T T T T T T T[T T T T Underflow 0
2000F anti-K  R=0.4 EM+JES —Jovertiow 0
1800 ;_ inclusive, Pythia —;
1600F- AGaussian
1400F %3Ny 0.50 3

- mean: (-5.02+039)%
1200 width: (29.16=@35)%
1000F- 3

800F -
600 3
400F- 3
200F —
O:LIJ-...I.... N R BN BT B
0 1 2 3 4 5 6 7

p‘j‘ /p;‘?f (20< p’Te‘[GeV] <40, Inl<0.8, 0.05<r-A¢<0.10)

: L rfrrtrr[rTrrrrrr1t : Underflow 0
2000 anti-K . R=0.4 EM+JES —J overflow 0
1 800 ;— inclusive, Pythia —;

1600 —
1400 -
1200E- 3
1000F- 3
800F- 3
600F- =
400F CutGaussian -
o x%Ingy:2.23 3
200 mean: f(-3.23:0:27)0/0
ot bl PR PRI B T P AU
0 3 4 5 WIGIn.648.bUiU751) Yo

1 2
p’f‘ /prTef (20< p’Te‘[GeV] <40, Inl<0.8, 0.05<r-A$<0.10)
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SHALEE B B L U N CE TS E R R
B anti-K; R=0.4 EMAJES: 1.41 | ouertow
1000 inclusive, Pythid1€8™: (-3.03+0B7)%
[ width: (29.61+003)%
800_— —
600 -
400~ -
200_— ]
O B L L L L I L L L L _I_I - Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]
0 ,1t f 2 f 3 4 5 6 7
pJTe /p’Te (20< p“Te [GeV] <40, Inl<0.8, 0.00<r-Ap<0.05)
- LI LI LA N L B IR R L R IR B Underflow
: anti-KT R=0.4 EM+JES TJovertiow
1 OOO -_ inclusive, Pythia _-
800 8
600 -
K Modified Poissgp
2 .
o %2Iny:0.68 -
400 — mean: (-0.59+0138)%
o width: (29.75+0441)%
200 —
N P NP T B PR B
O3 3

4 5 6 7
)

, 2
P /prTef (20< p“T‘*f [GeV] <40, Inl<0.8, 0.00<n-A$p<0.05

11706 Entries 11706
[} Crt+rrrrrrrrrrrrrr o[ r 11| T T T T] Underflow L]
0 : anti-K.r R=0.4 EM+JES “Joverflow 0

1000 [ inclusive, Pythia ]

B AGaussian T

8001~ x2/n,:0.77 4
i mean: (-4.85=0182)%
600 width: (29.30+0449)%

400 -

200 —

O B IJI L L I L L L L 'l _I_I - Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]

0 _1t f 2 f 3 4 5 6 7

p‘Te /pf (20< p’Te [GeV] <40, Inl<0.8, 0.00<r-Ap<0.05)

11706 Entries 11706
L] - LI L LA LN R NI B LR B B R Underflow )
0 : anti-KT R=0.4 EM+JES TJoverflow 0

1 OOO -_ inclusive, Pythia _-
800 —
600 —
400 -
200 [ CutGaussian _]

- 22N 1.41 7

K |I mean: (-3.03=Q37)%
0 MR P MUPE PR BPEEETE EFE T ST

0 3 4 5 WItrg29.6 |:U7+3)%

1 2
p’f‘ /prTef (20< p’Te‘[GeV] <40, Inl<0.8, 0.00<m-A$<0.05)
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S LML LI = TT-CE LR il
B anti-K . R=0.4 EJ@ME%:O.QS Jovertiow 0
1200 o ,mean:o (-9.38+0432)%
B inclusive, Pythia
1000F width: (28.69+(35)%
800F -
600F -
400[- -
200F =
O B L L L I L L L L ] I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]
0 ,1t f 2 f 3 4 5 6 7
pJTe /p’Te (40< p“Te [GeV] <80, Inl<0.8, 0.20<n-Ap<0.35)
- [ rtrr[rrrr[rrrrrr T Underflow L]
1200 N anti-K . R=0.4 EM+JES Jovertow o
B inclusive, Pythia ]
1000 -
800F -
600 Modified Poissah
C x2Ing ., 1.46 ]
- mean: (-7.06=0133)%
400 - width: (29.97:0:36)%
200F =
0' A PP EPEPEETE EPEPEPEPE EPEPEPEE PR
0 3 4 5 6 7
)

1 2
P /prTef (40< p“T‘*f [GeV] <80, Inl<0.8, 0.20<n-A$p<0.35

Entries

1200

1000

800

600

400

200

PO S T TR T TN T TN NN T TN TN T N N NN

anti-K R=0.4 EM+JES
inclusive, Pythia
AGaussian

x2INy,:1.05

Underflow

Overflow

13440

0

0

mean: (-10.09+4

width: (28.84+Q]

77)%
43)%

1 2
p‘j‘ /p;‘?f (40< p’Te‘[GeV] <80, Inl<0.8, 0.20<n-A¢<0.35

3

4 5 6

7
)

Entries

1200

1000

800

600

400

200

el

anti-K R=0.4 EM+JES

inclusive, Pythia

CutGaussian

x2/ny:0.95

Underflow

Overflow

13440

0

0

mean: (-9.38=0]

32)%

OO

3

4 5

1 2
p’f‘ /prTef (40< p’Te‘[GeV] <80, Inl<0.8, 0.20<m-A$<0.35)

v'v.am.éda.bgi'ufs)%
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T T 1 T T T T T T T Gdudslah T et o
1800 anti-K . R=0.4 W*""é§3 1,37 —]Overtlow 0
- o mean: (-7.89+0R7)%

1600 inelusive, PYING i ith: (25.91032)%
1400F =
1200 —
1000F =
800 —
600 f -
400 —
200 L -
O :J'J- P R SPYRT S N TN W T T AT N TR N Y TN SO TN M A .:
0 1 2 3 4 5 6 7
pJTet /p’Tef (40< p“Tef [GeV] <80, Inl<0.8, 0.10<mt-Ap<0.20)

: T L LI LI DL N L R NN N LR B L N B : Underflow L]
1800 anti-K R=0.4 EM+JES e L
1600 E— inclusive, Pythia —E
1400F =
1200 —

1000 =

C Modified Poiss@h
800 - X2y 3.72 3
600 mean: (-5.80+P8)%

5 width: (26.98+032)%
400 —
200F =

0 - o YRR NI T T (T RN N NN T NN T T 3
0 1 2 3 4 5 6 7
pJ:t /prTef (40< p“T‘*f [GeV] <80, Inl<0.8, 0.10<r-Ap<0.20)

: LI T T T [ rtrrrrrrr|rrrit : Underflow L]
1800F anti-K . R=0.4 EM+JES —Joveriion 0
1600 E— inclusive, Pythia —E
1400 E— AGaussian —f

C x%INg:1.19 3
1200 3 meand : f(-7.055_—.57)0/0
1000 :_ width: (25.84:.0_:32)%

800F- =
600 l -
400 =
200 L -
O :JIJ: P B ST S T [N TN T T T [N TN NN TR TN TN T T T N NN .:

0 1 2 3 4 5 6 7

p‘j‘ /p;‘?f (40< p’Te‘[GeV] <80, Inl<0.8, 0.10<r-A$<0.20)

: LI T T T T rfrrtrr[rTrrrrrr1t : Underflow (1]
1800 anti-K . R=0.4 EM+JES —J overflow 0
1600 E— inclusive, Pythia —E
1400 =
1200 —

1000 -
800k -
o00f- | :
400 ;— CutGaussian _;

- x2Ing 137 7

200 EJ.I L mear;j : f(-7.89:0527)%
00 e — J"é""éll_'"'é'villdlﬁ.éz'S.Qi:D?Z)%

1 2
p’f‘ /prTef (40< p’Te‘[GeV] <80, Inl<0.8, 0.10<m-A$<0.20)
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= rrrt|rrrrrrr1r |1t T Gduéslah T 1.7 = Underflow 0 = rrrt+|rrrr|rrrorrr1r|rrro & & rrrT = Underflow 0
2200 E_ anti-K; R=0.4 EMAES: 1.81 " overtiow 0 2200 = anti-K ; R=0.4 EM+JES " overtiow 0
2000 3 inclusive, Pythig o2 (6:50=023)% 2000 3 inclusive, Pythia E
1800F width: (23.58+0p7)% 1800F —

o 3 o AGaussian 3
1699 3 E 1600 3 %Ny 0.92 3
1400 = = 1400 — mean: (-5.26:TH49)%
1200 ;— —; 1200 ;— width: (23.65:-0;28)%
1000 ;— —; 1000 ;— —;

800E- 3 800F- 3
600 ;— —; 600 ;— —;
400 ;— ]_I.Lk~L —; 400 ;— L —;
200F - 200k =
e NN SN S e I e e S
p¥' /p!*" (40< p!”'[GeV] <80, Ini<0.8, 0.05<r-A¢<0.10) Py /p (40< p7'[GeV] <80, mi<0.8, 0.05<1-A¢<0.10)

= rfrtrrr[rrrrJrrrrrrrrrrrit 3 Underflow L] = T LA T rfrrtrr[rTrrrrrr1t = Underflow (1]
2200 - anti-K . R=0.4 EM+JES “overtiow 0 2200 = anti-K  R=0.4 EM+JES T overtiow o
2000 E_ inclusive, Pythia —E 2000 E_ inclusive, Pythia —E
1800 = 1800 =
1600 ;— —; 1600 ;— —;

1400 ;— —; 1400 ;— —;
1200 — 1200 =
1000 E_ Mzodified Poisséw 1000 E_ _E
= x2/n,,;:5.04 3 o E

800 = mean: (-4.85+03)% 800 = =
600F width: (24.21+-6208)% 600 o
400F = 400F- CutGaussian

= = = x5y 1.81 3

200 =3 = 200 =3 mear?: f(-6.50:0_:23)%
0} L Yy T 05 o — i o0 7)
0 1 2 3 4 5 6 7 0 1 2 3 4 5 6°7
pJ:t /" (40< P [GeV] <80, n<0.8, 0.05<r-A¢<0.10) p’f‘ /prTef (40< p’Te‘[GeV] <80, Inl<0.8, 0.05<r-A$<0.10)

Wednesday, 4 December 13 21



™ rrrt|rrrrrrr1r |1t T Gduéslah T 1 1 7] Underflow L] ™ rrrt+|rrrr|rrrorrr1r|rrro & & rrrT 7] Underflow 0
1200 - anti-K . R=0.4 Ea@mgg: 0.25 fSuerten 1200 C ﬂ anti-K  R=0.4 EM+JES Y erton 0
C inclusive, Pythig ©2"- (15-65=0130)% C inclusive, Pythia :
B * 7 Width: (23.35+0485)% _ ’ i
1 OOO -_ —_ 1 OOO __ AGaussian __
N ] N x2/ny,:0.26 ]
800 — =] 800 — mean: (-5.42+8755)%
B - B width: (23.35+035)%
600 - 600 -
400F - 400 -
200 - 200 k -
O B L L L I L L L Ll Ll I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ] O B L L L I L L L Ll Dl I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il N
0 1 f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTet /p’Te (40< p“Te [GeV] <80, Inl<0.8, 0.00<n-Ap<0.05) p‘Te /pf (40< p’Te [GeV] <80, Inl<0.8, 0.00<r-Ap<0.05)
™ rfrtrr[rtrrrrrrr|rrrer|r ot 7] Underflow L] ™ rfrtrrr[ryrrJfrrrrrrrrrrrro[1rrr1« 7] Underflow (1]
1 200 " anti-KT R=0.4 EM+JES ] Overflow 1 200 [ anti-KT R=0.4 EM+JES 7 Overflow 0
N inclusive, Pythia ] N inclusive, Pythia i
1000 - 1000 —
800 - 800 —
600 Modified Poisseh 600 —:
N 22Ny 1.12 N i
- mean: (-4.06+01831)% - ]
400 - width: (23.93+635)% 400 - .
= - = CutGaussian 4
200~ ] 200~ %2/, 025
B ] B mean: (-5.65+0J830)%
o P TR TR T TR T N S SN N N P PR R [ ST T T T T S N T WU T U T T U o
N R - R R S S Y N R - B R S R e Rl
pJ:t /prTe (40< p“Te [GeV] <80, Inl<0.8, 0.00<n-A¢p<0.05) p‘f‘ /prTe (40< p'Te [GeV] <80, Inl<0.8, 0.00<r-Ap<0.05)
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Entries 2563 Entries 2563
350 L AL B BLEL L BLELEL L B 7 TS P i Underflow 0 350 T T T [T T T T[T T T T[T T T T[T T rr[rrrr[rrre Underflow 0
- anti-K . R=0.4 Wﬂﬂgg: 1.94 ZJOverflow 0 o anti-K . R=0.4 EM+JES ZJOverflow 0
300 = inclusive, Pythig €21 (:5-72+6350)% 300 F inclusive, Pythia B
n width: (22.68+{J69)% - .
250 - 250F AGaussian 3
C ] - 22Ny, 2.18
200 [ . 200 C mean: (-5.17+1P1)%
- : - width: (22.70+(69)%
150 - 150 -
100 = 100 —
50F - 50F =
O : Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O : L L L I L L L Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 ,t1 . 2 f 3 4 5 6 7 0 -11 f 2 . 3 4 5 6 7
pf /p’Te (80< pf [GeV] <140, Inl<0.8, 0.20<n-A¢<0.35) p‘Te /p;‘_e (80< p’Te [GeV] <140, Inl<0.8, 0.20<n-A$<0.35)
Entries 2563 Entries 2563
350 = L B B B BRI B B Underflow 0 350 = L B B BRI B B B Underflow 0
C anti-K . R=0.4 EM+JES JJoverfiow 0 - anti-K . R=0.4 EM+JES JJOverfiow 0
300 :_ inclusive, Pythia _: 300 :_ inclusive, Pythia _:
250F - 250F =
200F 3 200F =
150 - Modified Poissoh 150 - =
o x2Ing 229 o ]
C mean: (-4.26+0J60)% - 3
100 - width: (23.24+0469)% 100 - B
C . o CutGaussian ]
S0 E S0 %%/ 1.94 7
. . . mean: (-5.72+050)%
() —— e b L () ""'""I""I'Wldtﬁ|42b8+'-9)°/
0 1 . 2 f 3 4 5 6 7 0 1 f 2 . 3 4 5 [ R A
pft/pf (80< prTe [GeV] <140, Inl<0.8, 0.20<x-A$p<0.35) p’f‘ /pf (80< p'Te [GeV] <140, Inl<0.8, 0.20<r-A$<0.35)
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Entries 4521
'L AL BN R R BN B BNLENL R B BLNL RN B Gduéslah T T Underflow 0
600 C anti-K . R=0.4 Wmléog; 0.82 —JOverflow 0
- inclusive, Pythig ©2"- (+4-63=Cf1 ):/ °
500 width: (19.74+0350)%
400 =
300F —
200F =
100 -
O : L L L I L L Il L Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 , t1 f 2 f 3 4 5 6 7
pf /p’Te (80< pf [GeV] <140, Inl<0.8, 0.10<r-Ap<0.20)
Entries 4521
= T ™T T T L LN LR BN R Underflow 0
600 anti-K . R=0.4 EM+JES —Joveriiow 0
E inclusive, Pythia E
500F =
400 =
300 Modified Poissoh
u x2/ny:0.66 7
200 mean: (-3.44=013)%
C width: (20.20=@51)%
100 -
0 - P P TR TR T TR T N S SN N N 3
0 3 4 5 6 7
)

1 2
P /pref (80< pf‘ [GeV] <140, Inl<0.8, 0.10<-A¢<0.20

Entries 4521
[T rrrrrrrr[rrrr[ T T Underflow 0
600 anti-K . R=0.4 EM+JES —JOverflow 0
E inclusive, Pythia E
500 :_ AGaussian _:
C o i .
C x2/ny,;:0.78 ]
400 mean: (-5.42+0B7)%
- width: (19.78=061)%
300F- 3
200F =
100 —
O : L L L I L L Il L Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 _ t1 f 2 f 3 4 5 6 7
p‘Te /p;‘_e (80< p’Te [GeV] <140, Inl<0.8, 0.10<n-A$<0.20)
Entries 4521
= L I B B L R LB R B BN LN B EELENLENL R R LN R R Underflow 0
600 anti-K . R=0.4 EM+JES —Joverflow 0
E inclusive, Pythia E
500 —
400 =
300 -
200F =
u CutGaussian -
100:— x2/ng:0.82 4
o mean: (-4.63=041)%

05 1' R :'3 - "'1' — 'é'v'v.am.élgﬁi'.
pif‘ /pff (80< p’Tef[GeV] <140, Inl<0.8, 0.10<r-A¢p<0.20)

0)%
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Entries 6696 Entries 6696
[T rrr[rrrr[rrrrrrrrrrr T Gduéslah T Underflow 0 [T T rTrT[rrrrrrrrrrr [ rr T T T Underflow 0
1000 — anti-K; R=0.4 ENM#JES : 1.98 —|Quertiow 0 1000 — anti-K . R=0.4 EM+JES —uerion 0
- inclusive, Pythig €21 (:3:34=081)% - inclusive, Pythia .
- width: (17.63=0138)% B -
800 — ] 800 — AGaussian |
- . - x2Iny,:2.34
B ] B mean: (-2.94+0.52)%
600 | - 600 | width: (17.68+0J39)%
400+ — 400 —
200 — 200 —
O B L L L I L L I — Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ] O B L L L I L L I — Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]
0 o 2 f 3 4 5 6 7 0 _ t1 f 2 . 3 4 5 6 7
pf /p’Te (80< pf [GeV] <140, Inl<0.8, 0.05<1-Ap<0.10) p‘Te /p;‘_e (80< p’Te [GeV] <140, Inl<0.8, 0.05<t-A$p<0.10)
Entries 6696 Entries 6696
[ T T T T LA LN L BN BN R LR R Underflow 0 [ T L T LI LB B BB LR BEL R R Underflow 0
1000 anti-K R=0.4 EM+JES —fovertiow 0 1000 anti-K R=0.4 EM+JES —Jovertiow 0
i inclusive, Pythia ] i inclusive, Pythia ]
800 — 800 —
600 — 600 —
- Modified Poissaft - ]
4001 X2 INger: 264 400} —
B mean: (-2.39+0130)% B -
C width: (17.80=0138)% C ]
200 — 200+ CutGaussian —|
i 7] i 2%/, 1.98 7]
B - N 1 (-3.34=0B1)%
0 M | ..!"'I-._LI PR TR T S T (T R T N N S SN T T 0 o1 ey o by ey byl .rl.qe.a?l(._.4+. 8)0/
o 1 2 3 4 5 6 7 0 1 2 3 4 5 WTgTTESETR8)%
pft /pre (80< prTe [GeV] <140, Inl<0.8, 0.05<7-A$p<0.10) p’f‘ /pf (80< p'Te [GeV] <140, Inl<0.8, 0.05<r-A$<0.10)
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Entries 4223 Entries 4223
LI I B B N B B B L B B B N L B B B LB B B B B Gduéslah T T_] Underflow 0 LN N N B I B B N L B B B NN N B N LB L B B B L R B B BN B B B Underflow 0
700 E_ anti-K R=0.4 EMAIES: 1.90 f Overflow 0 700 E_ anti-K . R=0.4 EM+JES f Overflow 0
o inclusive, Pythia (-2.89=Gp1 ):/ ° o inclusive, Pythia 3
600 width: (15.54:.0_:34) Yo 600 —
- 7 - AGaussian .
500F = 500F x2/ny:2.27 3
C . C mean: (-2.54+0p1)%
400F - 400F width: (15.56:0435)%
300 — 300 -
200 — 200 -
100 — 100 -
O - P { IS T R T [N NN T N TN [N SN TN N TN [N SO TN T TN [N NN T N 3 O - PR { NI T T N AN NN TN TR TN AT T TN T M [N TN ST TN M AN NN T Y 3
0 J,et1 . 2 » 3 4 5 6 7 0 jet1 » 2 . 3 4 5 6 7
Py /pT (80< P, [GeV] <140, Inl<0.8, 0.00<n-A¢p<0.05) Py /pT (80< P, [GeV] <140, Inl<0.8, 0.00<r-A$p<0.05)
Entries 4223 Entries 4223
[ T T T LI [ N B LN BN B R BB NN Underflow 0 [ T T T T T T T T T T T[T T T ] Underflow 0
700 E_ anti-K . R=0.4 EM+JES E Overfiow 0 700 E_ anti-K . R=0.4 EM+JES f Overfiow 0
E inclusive, Pythia E E inclusive, Pythia E
600 — 600 =
500F = 500F =
400 — 400 -
C Modified Poiss@h C 3
300 22Ny 2.49 3 300F 3
" mean: (-2.27+@31)% " .
200 width: (15.73+6434)% 200 —
E E E CutGaussian E
100 — 100 22Ny 1.90 ]
- - - mean: (-2.89+031)%
0 o o1 e e o by ey s by s e by e by 0 o o1 | TR TN BRI N TN SR S SN ST I T TN AT ST o
o 1 2 3 4 5 6 7 0 1 2 3 4 5 WTgTo-SHETR4)%
pf‘ /p? (80<p. [GeV] <140, ml<0.8, 0.00<n-A$<0.05) p’f‘ /pY" (80<p! [GeV] <140, Ini<0.8, 0.00<x-A$<0.05)
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Entries

401
0

0

401
0

0

Frr T T T e gugslah T et
60 anti-K  R=0.4 gcmmgg: 1.06 —jOverflow
C inclusive Pythig]ean: (-4.56=1TH3)%
50F © 7 width: (18.99+1195)%
40F =
30 | -
20F =
10 -
O : L L L L I ILI_‘" Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
(O t 1 f 2 f 3 4 5 6 7
pJTe /p’Te (140< pf [GeV] <200, Inl<0.8, 0.20<n-A¢<0.35)
Entries
: T T T T LA IR B B B L B B B B BB : Underflow
60 anti-K | R=0.4 EM+JES —]Overflow
E inclusive, Pythia E
S0 -
40F =
30 % Modified Poissah
C \ 22Ny 113
20 mean: (-3.22+1F6)%
C width: (19.71x2D1)%
10 —
0 - ' | .L._‘I'I P IR EET U T S S BT NN R S N N N S :
0 2 3 4 5 6 7
)

1
P /pff (140< pf‘ [GeV] <200, Inl<0.8, 0.20<m-Ap<0.35

60

50

40

30

20

10

60

50

40

30

20

10

Entries

TR B /| I T R NS BRI A B

anti-K, R=0.4 EM+JES -

Underflow

Overflow

401
0

0

inclusive, Pythia

AGaussian

X%INgy:1.43 1

mean: (-2.72+24
width: (16.07+ 13

51)%
08)%

OO

1 2
p‘Tet /p;_ef (140< p’Tef[GeV] <200, In<0.8, 0.20<n-A$<0.35

3

4 5 6

N | L1l

Entries

anti-K R=0.4 EM+JES

Underflow

Overflow

401
0

0

inclusive, Pythia

@)
c
=1
(@)
Q
c
)
]
)
=]
]

x2Ing:1.06 _:
mean: (-4.56+ 1

53)%

2

3

M T AT
4 5 WIGIn.6Ib.8tIiI.

1
p’f‘ /prTef (140< p’Tef[GeV] <200, Inl<0.8, 0.20<r-Ap<0.35)

5)%
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Entries 770 Entries 770

1 40 [T T T r [ T T[T T T[T T T T[T T T[T Gduéslah T -__ Underflow 0 140 -_- LI B B L B B B B B B B B B LB B R R | -. T T [ T T T[T -__ Underflow 0

N anti-K . R=0.4 ga@még; 1.45 _JOverflow 0 B anti-K  R=0.4 EM+JES Joverflow 0
1201 inclusive, Pythi\%‘iz?:_: ((1-2'13%%?;;:; ° 1201 inclusive, Pythia ]
100 - _: 100 :_ Agaussian _:

N 7 ~ X /ndof(: 1.30 7 )

B n B mean: (-4.13+15)%
80 B 80 - width: (16.39:0309)%
60 - 60 -
sof | - 40f- =
20F L,_ 3 20F- 3

O ;—l—i L I L L Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il n O --I- L L I L L Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]

o 1 2 3 4 5 6 7 0 o 1ref 2 o 3 4 5 6 7

pJT"’t /p’Tef (140< pf‘ [GeV] <200, Inl<0.8, 0.10<n-A¢<0.20) p‘T /pT" (140< p”'[GeV] <200, Inl<0.8, 0.10<n-A¢<0.20)
Entries 770 Entries 770
140 [T T rrrr[ T rrrr[rrrr[ 11T 1] Underflow 0 140 [T LA L R B B L B B L B B B L B B BB B B B L BB Underflow 0
_ anti-K R=0.4 EM+JES Joverflow 0 N anti-K . R=0.4 EM+JES JJOverflow 0

1 20 :_ inclusive, Pythia ] 1 20 [ inclusive, Pythia ]

100 :— —: 100 :— —:

80 - 80 -

C Modified Poisseh - E
60 x2In g 1.61 60F .

_ mean: (-4.30=0-B9)% _ .

40 n width: (16.81=7]16)% 40 [ -

C u C CutGaussian
20__ — 20_— x2Ing 145 7]

N . N . (-5.18+0P7)%

o 1 2 3 4 5 6 7 0 o 1ref 2 o 3 4 5 60T
pJ:t /pff (140< pf‘ [GeV] <200, Inl<0.8, 0.10<x-A$p<0.20) p'T /pZ" (140< p_ [GeV] <200, Inl<0.8, 0.10<n-A¢<0.20)
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Entries 1377 Entries 1377
T T T LIRS IR IR B BN CP TT.YS ] AL Underflow 0 T T T TT T T [ T T T T[T T T T[T T T T 111 T 11 T1_]Underflow 0
2501 anti-K R=0.4 ENMAJES: 0.10 JOverflow 0 250 anti-K . R=0.4 EM+JES Joverfiow 0
N o mean: (-3.112039)% B nclusive. Pyihi i
200 - inclusive, Pythl\?vidth: (14.271278)% 200 3 inclusive, Pythia B
B - - AGaussian -
C i C x2/ng 012 3
150 — 150 mean: (-3.27x1J07)%
B ] B width: (14.14=0963)%
100f - 100 -
50 - 50F -
Y e (1402 g Gen i ; . / Y e *'[GeV] <200, Inl<0.8, 0.05<r-A¢<0.10
P, /pT (140< P [GeV] <200, Inl<0.8, 0.05<n-A$p<0.10) P, /pT (140< P, [GeV] <200, Inl<0.8, 0.05<n-A$p<0.10)
Entries 1377 Entries 1377
- LA IR N N L B B B L B B B LN N N N BB BN R Underflow 0 - LA [N N LN N S LB B N NN N N NN BN Underflow 0
250 anti-K, R=0.4 EM+JES Jovertiow 250 anti-K R=0.4 EM+JES ~Joverfiow 0
E inclusive, Pythia ] B inclusive, Pythia 7]
200 - 200 -]
150 - 150 -
n Modified Poisse] : .
100 %%y 0.14 100 i
[~ mean: (-2.44+0p8)% [~ ]
C width: (14.40=0%78)% C ]
50+ — 50 CutGaussian —
_ N _ %?/Ny:0.10 ]
- L . - mean: (-3.11=03$9)%
sl A BT PR B R R o
N - R S S S I T 3 p WG Tz 8)%
pft/pf (140< prTe [GeV] <200, Inl<0.8, 0.05<x-A$p<0.10) p'T /pZ" (140< p_ [GeV] <200, Inl<0.8, 0.05<n-A¢<0.10)
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Entries

200 "

180
160
140
120
100
80
60
40
20

LI B C: (TT.5 F (R

anti-K R=0.4 EM#ES: 0.38 -

Underflow

Overflow

1037
0

0

. . mean: (-2.631(_);
inclusive, Pythia .
width: (14.29:+6

57)%
89)%

(@)

1 2
pf‘ /p'Tef (140< pf‘ [GeV] <200, Inl<0.8, 0.00<r-A¢<0.05

3

4 5 6

N L1l

Entries

200 "

180
160
140

120
100

80
60
40
20

anti-K; R=0.4 EM+JES

Underflow

Overflow

1037
0

0

inclusive, Pythia

Modified Poissd
%2/n . 0.58 3
mean: (-1.96=(
width: (14.43=

(@)

2

3

4 5 6 7
)

1
P /pff (140< pf‘ [GeV] <200, Inl<0.8, 0.00<m-Ap<0.05

Entries 1037
200_- T T LI L B B B L LN L N B B BN B B B L L B Underflow 0
1805 “ anti-K . R=0.4 EM+JES Joverfiow 0
160 E_ inclusive, Pythia _E
E AGaussian E
140E l! X2/, 0.15 3
120 mean: (-1.382551)%
100 :_ width: (14.34:2:92)%
80F- + =
60F -
40F- 3
O:""'"'"'""""""""""":
0 1 2 3 4 5 6 7
p‘Tet /p;_ef (140< p’Tef[GeV] <200, Inl<0.8, 0.00<n-A¢p<0.05)
Entries 1037
200_- T T L T LA L B LB R R BN R Ry Underflow 0
1805 anti-K . R=0.4 EM+JES Joverfiow 0
160 E_ inclusive, Pythia _E
140F 3
120 —
100 —
80F -
60F- =
40 CutGaussian =
F x2/n,:0.38 7
20 E 'I_LL mear?: f(-2.63:«0_:67)°/o
I T e S N e L SR

1
p’f‘ /prTef (140< p’Tef[GeV] <200, Inl<0.8, 0.00<r-A¢p<0.05)
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Entries
Underflow

Overflow

63
0

1.59)%

Entries

Underflow

Overflow

63

|
1 2 3

anti-K R=0.4 EM+JES

Entries
Underflow

Overflow

63
0

8

b-jet, Pythia

AGaussian
x2/n, 1055 -

dof*

mean: (86.63=4.70)%

width: (93.59+99.2

4 5 6 7
)

p’et /pref (0< p’e‘[GeV] <10, Inl<0.8, 0.20<n-A¢<0.35

9)%

s T T GAusslah T
B anti-K R=0.4 EM#JES: 0.50 o
[ ot pua MeEN: (114.21:3

4 JEL Y \vidth: (157.84:742.26)%

3

2 [ I

s ]

ol LI ]
0 S 2 f 3 4 5 6 7

p’Te /p’Te (0< p“Te [GeV] <10, Inl<0.8, 0.20<n-A¢<0.35)

5-_' 1 T T T
L anti-KT R=0.4 EM+JES -
C b-jet, Pythia ]

4_ —

3F -
E Modified Poisséw

o x2/n g 0.54 —
C i mean: (113.72+$6.27)%
K width: (52.31:27

| ] H ” H -

0' A 1 NI ]
0 1 3 4 5 6 7

)

2
pJet /p"sf (0< p“*f [GeV] <10, Inl<0.8, 0.20<r-A¢p<0.35

31)%

L1

anti-K R=0.4 EM+JES

Entries

Underflow

Overflow

63
0

8

b-jet, Pythia

3

1 ' :
p':‘ /p“Tef (0< p’Te‘[GeV] <10, Inl<0.8, 0.20<m-A$<0.35)

4 5

19.17)%
4.99)%

Wednesday, 4 December 13

31



Entries 40 Entries 40
3 __- LI N B L L B B B B B B B B B B B B L B B B B B Ga-uéslah T -__ Underflow 0 3 __- LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R -__ Underflow 0
- anti-K R=0|4 EM#JES: 0.14 —JQverflow 2 - anti-K . R=ﬂ4 EM+JES —Overflow 2
N . ]| mean: (108.05p6.81)% - . : ]
2.5 OIeL PYINIY idith: (127.135]61.66)% 2.5 e, Pythi —
: ] C AGaussian ]
2:_ _: 2:_ X2/ndof:o'18—-
- 3 C mean: (11.95+6|95)%
_ N _ width: (100.0033.06)%
1E - 1 : .
0.5F — 0.5F ]
O B ' ] 1l . O B n
0 1 R 2 f 3 4 5 6 7 0 1 o 2 f 3 4 5 6 7
pJTe /p’Te (0< p“Te [GeV] <10, Inl<0.8, 0.10<n-A¢<0.20) p’: /p“Te (0< p’Te [GeV] <10, Inl<0.8, 0.10<n-A$<0.20)
Entries 40 Entries 40
3 __ T T T T LI LI B LN B R BB R -__ Underflow 0 3 __ T L T LI IELIL B B B N B B B R -__ Underflow 0
- anti-K . R=[|4 EM+JES Joverfiow - anti-K . R=ﬂ4 EM+JES Jovertiow >
25 :_ b-jet, Pythi _: 25 :_ b-jet, Pythi _:
2f = 2F =
1.5 Modified Poisseh 1.5 =
- X214y 047 - .
1 meanp(14G-00={168.47)% 1 —
: width:|{10d. 0":_5 1 .27)% : :
0.5F - 0.5F —
- | | | . - | +7).84)%
N T - N R S R 00 —="" "2 g g mmgrdirgesor
pf /prTe (0< p“Te [GeV] <10, Inl<0.8, 0.10<n-Ap<0.20) p'Te /pf (0< p'Te [GeV] <10, Inl<0.8, 0.10<n-A$p<0.20)
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Entries 38 Entries 38
3 __- T T T 1T -- LI L -- LI LI R B B BN B B R Gafuéslah T -__ Underflow 0 3 __- LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R -__ Underflow 0
- anti-K; R=0.4 EM#JES: 0.26 —JOQverflow 0 - anti-K  R=0.4 EM+JES —Overflow 0
- . . mean: (61.79+TB.97)% - y . .
2.5 briet, Pythia— idth: (37.61=37.59)% 2.5 brjet, Pythia —
: ] C AGaussian ]
2 " ] 2 " )(Zlndj 1Q.28
- 3 - mean]|6Q145+8B.79)%
: ] : width:|{1d.00+38.73)%
B . B — .
1= 1=
0.5 0.5
O : 'R | 1 ) O )
0 1 R 2 f 3 4 5 6 7 0 1 o 2 f 3 4 5 6 7
p’Te /p’Te (0< p“Te [GeV] <10, Inl<0.8, 0.05<n-A¢<0.10) p’: /p“Te (0< p’Te [GeV] <10, Inl<0.8, 0.05<-A¢<0.10)
Entries 38 Entries 38
3 __ T T -- T T LI LI B LN B R BB R -__ Underflow 0 3 __ L -- L L -- LI IR B B B L B B B LR B B R -__ Underflow 0
N anti-KT R=0.4 EM+JES —{ Overflow 0 N anti-KT R=0.4 EM+JES —| Overflow 0
25 :_ b-jet, Pythia _: 25 :_ b-jet, Pythia _:
2F = 2F =
1.5 Modifild foisseh 1.5 =
- x2ingl: Q21 3 - .
1= ean]|(14{H00=H181.88)% 1
- idth:|{34117=3.90)% -
0.5F 0.5
- - 3.60)%
bl 1 . | G . 1 . s | o
N N - N R S R 00" " "2 3 g5 mmgrtivaden
pf /p’Te (0< p“Te [GeV] <10, Inl<0.8, 0.05<n-Ap<0.10) p'Te /pf (0< p'Te [GeV] <10, Inl<0.8, 0.05<7-A$p<0.10)
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Entries 15 Entries 15
2 __- LI N L L B B B L N B B N B R |- LI e Gefuéslah T -__ Underflow 0 2 __- LI L B B B B B R B B B B B R |- LI N B L B B B B B R -__ Underflow 0
C alfti-K R=0.4 EM#4ES: inf ~ JOverflow 0 C alfti-K ; R=0.4 EM+JES JOuertiow 0
1.8 = bet, Pythia oo (44.43H40.68)% 1.8 = bffet, Pythia E
16E width: (26.05+1$7.78)% 1.6E 3
E 3 - AGaussian
1.ap E T.4F x2/ng;inf
1.2F - 1.2 mean: (64.50:4; 33)%
' ] = 3 '1 - width: (0.01=8.8B)%
0.8F 0.8
0.6 0.6
0.4F 0.4
0.2F 0.2
O : L Il Il Il I Il Il Il I LAl Il I 14 Ll I Il Il L I Il Il Il Il “ Il Il Il Il O : L Il Il Il I Il Il Il I LAl Il I ALl 1 I Il Il Il Il Il Il “ Il Il Il Il
0 1 2 3 4 5 6 7 0 1 et 2 f 3 4 5 6 7
P /p™ (0< p’*'[GeV] <10, Il<0.8, 0.00<n-A$<0.05) P /p™" (0< p™*'[GeV] <10, Inl<0.8, 0.00<r-Ap<0.05)
T T T T T T
Entries 15 Entries 15
= L IR B B B L B B B B LR |- T T T T T[T -__ Underflow 0 2 __- LI B L N B B B BB B B R B |- T T T T T[T TT -__ Underflow 0
2 = alfti-K . R=0.4 EM+JES fJoverflow 0 = alfti-K . R=0.4 EM+JES JOvertiow 0
18 3 b{et, Pythia E :: 2 E_ bifet, Pythia _E
1.4 - 1.4F -
1.2F = 1.2F =
1;_ 111 Moflififd Poissdh 1E ]
0.8F ;(2]]7(”:0.05 ) 0.8
C medn1|(140.004P09.13)% C
0.6 3 widjh:|{100.00:87.69)% 0'6:_
04 :— 0.4 :— Cuffbqlissian
- - 2 .
= = x2plf: 012
0.2 C 0.2 o meﬁn P06.19)%
OO- L o * L il 00 * 3 * * 4 * * 5 * Wldlﬁ. 7.24)°/o

P
1 2 3 4 5 6 7
)

P! /p'T‘sf (0< p“T‘*f [GeV] <10, Inl<0.8, 0.00<n-A$<0.05

1 2
i p':‘ /p“Tef (0< p’Te‘[GeV] <10, Inl<0.8, 0.00<m-A$<0.05)
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Entries 272 Entries 272
a LINLJL B N I B B B B N B B B B I B B B B BB B B R B Gefuéslah T T 3 Underflow 0 a LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R 3 Underflow 0
18 ol anti-K R=0.4 Ecl\ﬁfd;lég; 0.50 _Z]Overflow 0 18 i anti-K R=0.4 EM+JES ~jOverflow 0
C , . mean: (43.18+4]23)% - . . 3
16 brjet, Pythia — idth: (47.40+58)% 16 brjet, Pythia E
14F = 14F AGaussian
C ] u XNy, 0.54 o
12 - = 12 3 mean: (54.17<8{02)%
10E = 10E width: (46.03+6]16)%
8F — 8F -
6 - 6 -
4E E 4E E
oF |J] = of |J] =
O : L Il L L I L L L L I L L L m n Il I " Il Il Il I Il Il " Il I Il Il Il Il : O : L Il L L I L L L L I L L L m n Il I " Il Il Il I Il Il " Il I Il Il Il Il :
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (10< p“Te [GeV] <20, Inl<0.8, 0.20<n-A¢<0.35) p‘Te /pf (10< p’Te [GeV] <20, Inl<0.8, 0.20<n-A$<0.35)
Entries 272 Entries 272
- LI (LA N B LN BN B BB B R Underflow 0 - T LI IR B N R R B N B BB B R Underflow 0
18E anti-K  R=0.4 EM+JES Hovertiow 0 18E anti-K . R=0.4 EM+JES Joverfiow 0
1 6 E_ b-jet, Pythia _E 1 6 E_ b-jet, Pythia _E
14 = 14 -
12F E 12f- E
10F . 10 E
- Modified Poissen - I
8F %2INgy: 0.52 8t E
6 mean: (50.01£4J05)% 6 7
- width: (34.75+4335)% - 5
4= - 4= CutGaussian —J
5 - |J] = 5 - |J] x2In;:0.46 3
o - - : (43.32+6]97)%
N S el | 1 ] T AT R N AR I Y o I ORI ot A
0 1 2 3 4 5 6 7 0 1T 2 3 4 5 gD To= F7.92)%
pft/pf (10<p [GeV] <20, n|<0.8, 0.20<n-A$<0.35) p'ft/p:’ (10< P [GeV] <20, I|<0.8, 0.20<n-A¢<0.35)
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Entries 207
16 __- LI N B L L B B B B B B B B B B B B L B B B B B Gefuéslah T -__ Underflow 0
- anti-KT R=0.4 W*d’lég 0.88 - Overflow 0
14 :_ bejet, Pythia m'ean: (40.721.{ 45)%
- width: (42.68=5131)%
12 ]
10 —
8 =
6F =
4 =
o2F |'||'| F] -
O . L Il L L I L L L L I L L I Il Il Il I ""I "I Il I Il Il " Il I Il Il Il Il ]
0 ,1t f 2 f 3 4 5 6 7
pJTe /p’Te (10< p“Te [GeV] <20, Inl<0.8, 0.10<n-Ap<0.20)
Entries 207
— T LI [ N B LB B B R LR B Underflow 0
16 - anti-K , R=0.4 EM+JES “Jovertow 0
14 b-jet, Pythia -
12 —
10 —
8¢ Modified Poissel
6 22Ny 1.10 7
- mean: (45.38+539)%
4F- width: (36.43+7111)%
2F |'||'| [I] -
O [~ o e sy | M | "".". o1 " M P
0 3 4 5 6 7
)

1 2
P /prTef (10< p“T‘*f [GeV] <20, Inl<0.8, 0.10<n-A$p<0.20

1 6 __. LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R .__ Underflow 0
- anti-K . R=0.4 EM+JES —Joverfiow 0
14 b-jet, Pythia -
12 AGaussian
- x2INy4,:0.97 7
10 mean: (46.03<975)%
8 u width: (43.54+6150)%
6F -
4 -
o2k |'||'| F] -
O . L Il L L I L L L L I L L I Il Il Il I ""I"I Il I Il Il " Il I Il Il Il Il n
0 _1t f 2 f 3 4 5 6 7
p‘Te /pf (10< p’Te [GeV] <20, Inl<0.8, 0.10<n-Ap<0.20)
Entries 207
— T LI IR B B R B B B B BB B Underflow 0
16 - anti-K; R=0.4 EM+JES “Jovertow o
14 b-jet, Pythia -
12 —
10 —
8 =
6 =
4 -
C CutGaussian 4
2:— |—||—| |-|] lendof:0.93—:
- : (36.77+6{49)%
00- o é — ‘II_""" . é . leoIr?.é(ok.§8:'b-747))‘Vo

Entries

207

1 2
P /prTef (10< p’Te‘[GeV] <20, Inl<0.8, 0.10<m-A$p<0.20)
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Entries 159 Entries 159
1 2 -_- LI N B L L B B B B B B B B B B B B L B B B B B Gafuéslah T -_- Underflow 0 1 2 -_- LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R -_- Underflow 0
: anti-KT R=0.4 W*d’lég 0.52 : Overflow 0 : ami_KT R=0.4 EM+JES : Overflow 0
_ : (28.27=4147)% B -
10E b-jet, Pythia VT;?:_ ((39 18+T32))% 10k b-jet, Pythia ]
[ N [ AGaussian -
sk - sk %2/ 4y 0.48
C ] C mean: (13.84+TR.78)%
sk - sk width: (45.38+H.24)%
4t = aF =
2 -] 2 7
O B L Il L L I L L L L I L Il Il H Il ”"I Il I Il Il Il Il I Il Il Il Il ] O B L Il L L I L L L L I L Il Il " Il ""I Il I Il Il Il Il I Il Il Il Il ]
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (10< p“Te [GeV] <20, Inl<0.8, 0.05<n-A¢<0.10) p‘Te /pf (10< p’Te [GeV] <20, Inl<0.8, 0.05<n-A¢<0.10)
Entries 159 Entries 159
LA LN LN N B R LN B B B N LN B B R BB Underflow 0 LA N B N N B BN B B N N B N BN R B B B B B B B B B R Underflow 0
12 anti-K , R=0.4 EM+JES “Jovertow o 2 anti-K; R=0.4 EM+JES “Jovertow o
10 " b-jet, Pythia ] 10 n b-jet, Pythia _
8- = 8- =
6 Modified Poissah 61~ i
- x%/Ngy: 0.54 ] . ]
41 mean: (32.59+8{00)% 41— —
B width: (35.97=3]77)% C i
B B B CutGaussian T
21 N 2r x?Iny,:0.45 -
N ”" i B mean: (19.07=7]66)%
0 0 )%
0 ,1t . 2 f 3 4 5 6 7 0 ,1t f 2 f 3 5 CERT
pf /prTe (10< p“Te [GeV] <20, Inl<0.8, 0.05<n-Ap<0.10) p': /prTe (10< p'Te [GeV] <20, Inl<0.8, 0.05<7-A$p<0.10)
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Entries 89 Entries 89
9 __- LI N B L L B B B B B B B B B B B B L B B B B B Gafuéslah L Underflow 0 9 __- LI I - LI NI B N N N B B B B B B B R L R B B B N R -__ Underflow 0

o anti-K R=0.4 EMAES: 1.07 “Jovertiow 0 = anti-K . R=0.4 EM+JES Joverfiow 0
8E bjet, Pythia o2 (18 B7E.39)% 8E- b-jet, Pythia =

= width: (59.63+t$.15)% - 7
E 3 E AGaussian 7
6F — 6 lendof014—

- 3 o l mean: (-15.04:35.66)%
SE - SE width: (26.83+3$.52)%
4E E 4E E
3E = 3 =
2f E 2f- E
i | E 0 1 WY E
O Il Il Il I Il Il Il Il I Il Il Il Il : 0 : L L L I L L L Il I Il Il Il Il Il Il I Il Il Il Il I Il Il Il Il :

0 ,1t f 2 f 3 4 5 6 7 0 1t f f 5 6 7
pJTe /p’Te (10< p“Te [GeV] <20, Inl<0.8, 0.00<n-Ap<0.05) ple /pre 10< pre [GeV] <20, |n|<o 8, 0.00<n-A$<0.05)
Entries 89 Entries 89
9 LI IR N L B N B N LB B B BN N R L B B R BN -__ Underflow 0 9 __- LA N LN N B B B B N B BB B R B B B B N B R -__ Underflow 0
anti-K . R=0.4 EM+JES Joverfiow 0 o anti-K R=0.4 EM+JES JJoverflow 0
8 b-jet, Pythia E 8 = b-jet, Pythia E
7 E 7E E
6 E 33 E
5 E 5¢- E
Modified Poisséh = ]
4 x2/n,,:1.04 3 45 ]
3 mean: (32.84=Fp.08)% 3k =
width: (55.68+1$.07)% = 3
2 = 2F CutGaussian 3
1 _: 1 :_ X /ndof 1.05 4
” | | 3 o : : H" : ” " : mean: I( -28. 41:;9.62)%
OO -1t f > f 3 4 5 6 7 00 '1t f > f 3 4 5 Witrgss. Idtbj?.06)°/o
pf /prTe (10< p“Te [GeV] <20, Inl<0.8, 0.00<m-Ap<0.05) p': /prTe (10< p'Te [GeV] <20, Inl<0.8, 0.00<7-A$p<0.05)

Wednesday, 4 December 13 38




Entries 831 Entries 831
F LINLJL B N I B B B B N B B B B I B B B B BB B B R B Gduéslah T T = Underflow 0 F LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R 3 Underflow 0
80 - anti-K R=0.4 EMHIES: 2.26 “Joverflow 0 80 - anti-K  R=0.4 EM+JES “Joverflow 0
= . _ mean: (0.38+149)% = ] . E
70 E b-jet, Pythia width: (30.6411563)% 70 E b-jet, Pythia E
60F - 60F AGaussian 3
F 3 F x%/Ngoii1.20 3
50 = 50 mean: (-9.33+335)%
- 3 - width: (29.15=206)%
30 — 30 -
20 - 20 —
10 - 10 —
O : il L L I L L L L l& " I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O : =111 L L I L L L L l& " I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (20< p“Te [GeV] <40, Inl<0.8, 0.20<n-A¢<0.35) p‘Te /pf (20< p’Te [GeV] <40, Inl<0.8, 0.20<n-Ap<0.35)
Entries 831 Entries 831
o LA LA N N N B B B B B R B B B B R R = Underflow 0 o LI IR B B B B L B B B N R B R R LR B R = Underflow 0
80 = anti-K . R=0.4 EM+JES “Joverflow 0 80 = anti-K . R=0.4 EM+JES “Joverflow 0
70 b-jet, Pythia — 70 b-jet, Pythia —
60 - 60 —
50 - 50 —
40 ;_ Modified Poisséw 40 ;_ _;
- 2 . - - -
= X Ngor: 1.80 3 - =
30 - mean: (2.69+13%1)% 30 - -
20 :_ width: (30.34:1_:50)°/o 20 :_ _:
= ] - CutGaussian o
10 — 10 x2Inyy: 2.26 3
" 3 C :(0.38+139)%
O j;lt ref 2 ref 3 4 5 6 7 0 j:ait ref 2 ref 3 4 5 6
P, /pT (20< P, [GeV] <40, Inl<0.8, 0.20<x-A¢$p<0.35) o /pT (20< P, [GeV] <40, Inl<0.8, 0.20<m-A$p<0.35)
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Entries 767 Entries 767
70 ™ LI N B L L B B B B B B B B B B B B L B B B B B Gduéslah T ™ Underflow 0 70 ™ LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R . Underflow 0
n anti-KT R=0.4 W{-d;lég; 0.73 JOverflow 0 n anti-K.r R=0.4 EM+JES _JOverflow 0
60 , _ mean: (1.08=141)% 60 , , —
- briet, Pythia — idth: (33.50=2414)% - brjet, Pythia ]
50 :_ _: 50 :_ AGaussian —:
C ] u x2/Nyy:0.57 7
40 ] 40F mean: (-4.13+3J02)%
- ] - width: (32.05+H14)%
30F - 30F =
20 — 20 —
10 — 10 —
O:I Iﬂlﬂl Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il I: O:I Iﬂlﬂl Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il I:
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (20< p“Te [GeV] <40, Inl<0.8, 0.10<n-A¢<0.20) p‘Te /pf (20< p’Te [GeV] <40, Inl<0.8, 0.10<r-A$<0.20)
Entries 767 Entries 767
70 = T L LN IR LR R Underflow 0 70 = T LI IELIL B B B N B B B R = Underflow 0
C anti-KT R=0.4 EM+JES _JOverflow 0 C anti-KT R=0.4 EM+JES _JOverflow 0
60 _ _ — 60 _ _ =
N b-jet, Pythia n N b-jet, Pythia n
50 3 50F =
40F = 40F- E
30 :_ Mzodified Poiss%w 30 :_ _:
- 221Ny 0.60 - ]
C mean: (4.45+132)% C :
20 - width: (32.07+2J09)% 20 - =
N . o CutGaussian ]
10 E 10 x2/n . 0.73 3
C : C mean: (1.08=131)%
0-| MEFEE B —1 ool oo by b s by T 0- M =3 ool oo 1y lV;IId'[rl\ |d|3|50+|- 4)CV
0 1 f 2 f 3 4 5 6 7 0 1 f 2 f 3 4 5 [ S A
pJ:t /p? (20<p [GeV] <40, mi<0.8, 0.10<n-A$<0.20) p’f‘ /Y (20<pY [GeV] <40, mi<0.8, 0.10<n-A$<0.20)
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Entries 647 Entries 647
__- LI N B L L B B B B B B B B B B B B L B B B B B Gduéslah T -__ Underflow 0 __- LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R -__ Underflow 0
70 n anti-KT R=0.4 W{-dﬁg; 1.07 =]Overflow 0 70 n anti-K.r R=0.4 EM+JES —J Overflow 0
= . _ mean: (-1.31x1%$2)% = ] , e
60F briet, Pythia — idth: (28.54= 1476)% 60F brjet, Pythia -
» ] n AGaussian 3
S0 E SOF 22in 148 3
C . C mean: (-4.18+315)%
40 - B 40 - width: (28.76=228)%
30F 3 30F =
20 = 20 —
10F — 10 —
O :I L L L I L L L L ||1'r| Iﬂlﬂl Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il I: O :I L L L I L L L L In'f| II'|II'II Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il I:
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (20< p“Te [GeV] <40, Inl<0.8, 0.05<n-A¢<0.10) p‘Te /pf (20< p’Te [GeV] <40, Inl<0.8, 0.05<n-A¢<0.10)
Entries 647 Entries 647
- LI (NI B B B R B B LB N N BB B R Underflow 0 - LI (NN N B B R B B BN B N RN B R Underflow 0
70 - anti-K  R=0.4 EM+JES “Joverfiow 0 70 - anti-K . R=0.4 EM+JES “Joverfiow 0
60 b-jet, Pythia — 60k b-jet, Pythia —
50F — 50F —
40F- = 40F- 3
- Modified Poissah - .
30E X2Ngri 108 30E E
- mean: (0.97+184)% - 7]
20 width: (28.49:TI3)% 20 —
E E E CutGaussian E
10 E 10 x2/n . 1.07 7
- | - | | | 3 - | . | |  mean: (-1.3%1 $2)%
N - R R R S Y 00 e Ty e
pJ:t /p? (20<p [GeV] <40, mi<0.8, 0.05<n-A$<0.10) p’f‘ /pY (20<pY [GeV] <40, mi<0.8, 0.05<n-A¢<0.10)
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Entries 349 Entries 349
a LINLJL B N I B B B B N B B B B I B B B B BB B B R B Gefuéslah T T 3 Underflow 0 a LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R 3 Underflow 0
- anti-K_ R=0.4 EM+JES: 1.62 TJOverflow 0 - anti-K_ R=0.4 EM+JES Joverflow 0
35 ! # dﬁgg Sloowe 35 ! -
C . . mean: (-2.87+2189)% - ) ) .
- b-jet, Pythia . | - b-jet, Pythia 3
30E width: (32.30+4383)% 30E- E
C ] C AGaussian
25 ] 25 lendof: 1.44 4
- 3 - mean: (-5.91=430)%
20F- e o0E width: (30.74x3154)%
15 — 15 —
10 — 10 —
SE = Sk -
O : L L L L I L L L L 1 Il Il ||1| Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O : L L L L I L L L L 1 Il Il Inl Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (20< p“Te [GeV] <40, Inl<0.8, 0.00<n-Ap<0.05) p‘Te /pf (20< p’Te [GeV] <40, Inl<0.8, 0.00<r-Ap<0.05)
Entries 349 Entries 349
- T LI (LA N B LN BN B BB B R Underflow 0 - T LI IR B N R R B N B BB B R Underflow 0
- anti-K. R=0.4 EM+JES Jovertiow o - anti-K. R=0.4 EM+JES Jovertiow 0
35 ! - 351 ' —
C b-jet, Pythia ] C b-jet, Pythia ]
30 — 30 -
25 — 25F —
20 — 20 -
- Modified Poissen - I
15 x%/Ngor: 1.59 3 15 -
- mean: (0.88+341)% - 3
10 width: (31.94=4449)% 10 -
- 3 - CutGaussian J
5 — 5 221Ny 1.62
C - - mean: (-2.87+Z§89)%
(013 B ey S S e (01 S a— "r"""I""I'Wldlﬁld2'30+'-2)"/
0 1 f 2 f 3 4 5 6 7 0 1 f 2 f 3 4 5 [ S A
pft/pf (20< p [GeV] <40, n|<0.8, 0.00<n-A$<0.05) p'ft/p:’ (20< p”'[GeV] <40, I|<0.8, 0.00<n-A¢<0.05)
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Entries 757 Entries 757
80 __- LI N B L L B B B B B B B B B B B B L B B B B B Gduéslah T -__ Underflow 0 80 __- LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R -__ Underflow 0
é anti-K R=0.4 EM#IES: 1.71 E Overflow 0 é anti-K  R=0.4 EM+JES E Overflow 0
70 3 b-jet, Pythia VT;?:_: (;:34&73??7'3?3/:/ ° 70 3 b-jet, Pythia E
60 — 60 AGaussian =
= - = ) _ ]
- 3 - %2/ 2.05 7
50 = = 50 3 mean:o(-1 6.32:.66)%
40 = E 40 = width: (26.96x TP6)%
30k - 30k -
20 — 20 -
10 — 10 —
O : L L L I L L L } Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O : L L L I L L L } Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 ,1t . 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (40< p“Te [GeV] <80, Inl<0.8, 0.20<n-A¢<0.35) p‘Te /pf (40< p’Te [GeV] <80, Inl<0.8, 0.20<n-Ap<0.35)
Entries 757 Entries 757
80 il T T LI LI B LN B R BB R -__ Underflow 0 80 il L T LI IELIL B B B N B B B R -__ Underflow 0
- anti-K . R=0.4 EM+JES Joverflow 0 - anti-K . R=0.4 EM+JES Joverflow 0
70 3 b-jet, Pythia = 70 - b-jet, Pythia =
60 — 60 -
50 — 50 -
40 Modified Poissah 40F =
= 5 : - = ]
= %3Ny 1.83 3 C —
30 - mean: (-12.10:4.42)% 30 C 3
20F width: (30.31:1373)% 20F —
C - C CutGaussian
10E = 10F 22Ny 1.71 3
= - = : (-14.76+3.45)%
0' o1 } P PRI EEr A TR ET BN EE RN E R S T 0' P R } .I....I....I.me.a?l(.‘.‘+.'oc3/
0 1 2 3 4 5 6 7 0 1T 2 3 4 5 nTgEe o=y 0)%
pft/pf (40< " [GeV] <80, m|<0.8, 0.20<n-A$<0.35) p'ft/p:’ (40< p*'[GeV] <80, |<0.8, 0.20<n-A¢<0.35)
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Entries 916 Entries 916
100 [T rrr[frrrr[rrrr[r T[T T[T Gduéslah T 1] Underflow 0 100 LI R L R B B LI B B N NN N B B B L L B R L B B BB N Underflow 0
- anti-K; R=0.4 EM#JES: 0.60 —JQverflow 0 - anti-K  R=0.4 EM+JES -JOverflow 0
- } _ mean: (-10.62+1.35)% : } . i
80 briet, Pythia | idth: (27.99++71)% 80| brjet, Pythia —
: : : AGaussian :
5 - L x2Iny,: 052 ]
60 — 60 mean: (-7.63+2493)%
C ] C width: (28.09=T78)%
40— — 40— —
20 — 20— —
O i i Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ] O i il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (40< p“Te [GeV] <80, Inl<0.8, 0.10<n-Ap<0.20) p‘Te /pf (40< p’Te [GeV] <80, Inl<0.8, 0.10<n-Ap<0.20)
Entries 916 Entries 916
1 00 [T T LN L R B BB BB B R Underflow 0 1 OO [T T L T LA L B L BB R R BB R I Underflow 0
B anti-K . R=0.4 EM+JES ~Joverflow 0 B anti-K . R=0.4 EM+JES ~Joverflow 0
80 '_ b-jet, Pythia _' 80 '_ b-jet, Pythia _'
60 — 60— —
: Modified Poissch [ i
40 x21n 4 0.80 — 40~ —
i mean: (-7.97=134)% i ]
B width: (29.27+1J73)% | i
20— = 20— CutGaussian —
: i : x2/n:0.60 ]
n - » mean: (-10.62+4.35)%
0 M | o e ey s s oy 0 - O)‘V
0 1 2 3 4 5 6 7 0 1 .2 3 4 5 R
pf /prTe (40< p“Te [GeV] <80, Inl<0.8, 0.10<n-Ap<0.20) p': /prTe (40< p'Te [GeV] <80, Inl<0.8, 0.10<n-A$p<0.20)
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Entries 934 Entries 934
LIS B LR LR BB NN BN P T Underflow 0 FT T T T [ T T T T [T T T [ T T T[T T T [ T 11T 1 1 1gUnderflow 0
100 — anti-K R=0.4 EMAJES: 1.46 ~_Overfiow 0 100 N anti-K . R=0.4 EM+JES Joverfiow o
B r . mean: (-8.60+1L1)% = ] . -
80 - b-jet, Pythia width: (25.37+ TH6)% 80 - b-jet, Pythia E
n - » AGaussian _
: ] : %%/Nyo;: 0.90 7]
60 — 60 mean: (-2.67+2}48)%
- e - width: (25.00+ H73)%
40 — 40— —
20 — 20— —
O i i Il Il IJ Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ] O i il Il Il 4 Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]
0 ,1t . 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (40< p“Te [GeV] <80, Inl<0.8, 0.05<n-Ap<0.10) p‘Te /pf (40< p’Te [GeV] <80, Inl<0.8, 0.05<t-Ap<0.10)
Entries 934 Entries 934
= T LI (LA EL  L BN BN B B BRI Underflow 0 = LI LI N S B B B B B LB B B B N B BN B B N R B B RN Underflow 0
100~ anti-K; R=0.4 EM+JES —Jovertiow 0 100~ anti-K . R=0.4 EM+JES Jovertiow 0
i b-jet, Pythia i i b-jet, Pythia ]
80— — 80 —
60 — 60— —
- Modified Poissgh . i
40— 22Ny, 2.18 — 40} —
B mean: (-8.06+1J02)% B .
C width: (25.11133)% C ]
20— — 20— CutGaussian —
i ] : X%y 146 ]
n - » mean: (-8.60+1P1)%
v M PR B B o
N R N R U - Oy e
pf /prTe (40< p“Te [GeV] <80, Inl<0.8, 0.05<n-Ap<0.10) p': /prTe (40< p'Te [GeV] <80, Inl<0.8, 0.05<7-A$p<0.10)
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Entries 522 Entries 522
: LINLJL B N I B B B B N B B B B I B B B B BB B B R B Gduéslah T T : Underflow 0 : LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R : Underflow 0
o anti-K . R=0.4 Wmlég; 0.76 =fOverflow 0 o anti-K . R=0.4 EM+JES —fOverflow 0
60 o mean: (-11.085361)% 60 o 3
- b-jet, Pythia . - - b-jet, Pythia -
- width: (27.79=H93)% - .
50 — 50 AGaussian =]
o ] C x2/Ny,:0.89 3
40F — 40 mean: (-9.04=3$0)%
o ] o width: (27.62+248)%
30F 3 30F -
20 - 20 -
10 - 10 -
O : L L L L I L L L I I LI Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O : L L L L I L L L I I LI Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 ,1t f 2 f 3 4 5 6 7 0 _1t f 2 f 3 4 5 6 7
pJTe /p’Te (40< p“Te [GeV] <80, Inl<0.8, 0.00<n-Ap<0.05) p‘Te /pf (40< p’Te [GeV] <80, Inl<0.8, 0.00<r-Ap<0.05)
Entries 522 Entries 522
: T ™T T T LA IR B B B L B B B B BB : Underflow 0 : T L T L BN B B B B B B LR R : Underflow 0
o anti-KT R=0.4 EM+JES = Overtlow 0 o anti-KT R=0.4 EM+JES =J|Overflow 0
60 = 60 =
- b-jet, Pythia - - b-jet, Pythia -
50 — 50 —
40 = 40F =
30 - Modified Poissah 30 o A
- x%Iny,: 0.98 3 - .
- mean: (-9.10=1-47)% - =
20 - width: (27.33+H73)% 20 - .
C . C CutGaussian
10F - 10 %2/n 4y 0.76 2
C ] C mean: (-11.08:3.61)%
O T By e e O S B ey e s e I
0 1 f 2 f 3 4 5 6 7 0 1 f 2 f 3 4 5 6 IET
pft/pf (40< p“Te [GeV] <80, Inl<0.8, 0.00<n-A¢p<0.05) p'f‘/p;e (40< p'Te [GeV] <80, Inl<0.8, 0.00<r-Ap<0.05)
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Entries 142 Entries 142
18 __- LI N B L L B B B B B B B B B B B B L B B B B B Gduéslah T -__ Underflow 0 1 8 __- LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R -__ Underflow 0
- anti-K . R=0.4 ga@még; 0.08 —jOverflow o0 - anti-K  R=0.4 EM+JES —fOverflow 0
16 - biet, Pythia €A™ (-7.44=8F56)% 16 - biet, Pythia =
- width: (21.86+30)% - ]
14 E 14 AGaussian 3
12F = 12F- 710,08 3
- . - mean: (-8.62+55)%
10 — 10 width: (21.98+30)%
8F - 8F -
6F = 6 =
4 = 4F =
2F = 2F -
O : L L L I L L Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O : L L L I L L Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 A 2 f 3 4 5 6 7 0 _ t1 f 2 f 3 4 5 6 7
pf /p’Te (80< pf [GeV] <140, Inl<0.8, 0.20<n-A¢<0.35) p‘Te /p;‘_e (80< p’Te [GeV] <140, Inl<0.8, 0.20<n-A$<0.35)
Entries 142 Entries 142
- T ™T T T LI [ N B LB BN B R LR B R Underflow 0 - T L T LI IR B B R R B N B BB B R Underflow 0
18 - anti-K  R=0.4 EM+JES “Joverfiow 0 18 - anti-K . R=0.4 EM+JES “Joverfiow 0
16 - b-jet, Pythia B 16 - b-jet, Pythia B
14F = 14F =
12F = 12 -
10 — 10 —
8 = Modified Poisseh 8 = e
C x2/ny;:0.07 3 C 3
6 mean: (-5.89+2{78)% 6 -
- width: (22.75+3P4)% - ]
4 - B 4 - CutGaussian 5
o = o x2/n,:0.08 -
n . C mean: (-7.44+2-56)%
o PR T PR TN A T ST SN NN ST N NN UN SR A SR R . o PR R PERIE T NI S ST N TS SN NN T RUTI J T A S o
N - R S R S Y 00T T e Ty e
pft/pf (80< prTe [GeV] <140, Inl<0.8, 0.20<x-A$p<0.35) p’f‘ /pf (80< p'Te [GeV] <140, Inl<0.8, 0.20<r-A$<0.35)
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Entries 263 Entries 263
F LINLJL B N I B B B B N B B B B I B B B B BB B B R B Gduéslah T T ] Underflow 0 F LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R ] Underflow 0
35F anti-K . R=0.4 Wﬂﬂgg: 1.39 _jOverflow 0 35 anti-K  R=0.4 EM+JES —fOverflow 0
- , _ mean: (-7.18=2J00)% - . . .
30 :_ b-jet, Pythia width: (22.92%41 % 30 :_ b-jet, Pythia _:
- - - AGaussian
o5F = 25F x2Inyy:1.54 3
C . C mean: (-5.11+336)%
20F - 20F width: (23.30+2460)%
15F = 15F =
10 — 10 —
5 = 5F -
e s S R S m Of St b
pJ'T"t /p'Tef (80< pf‘ [GeV] <140, Inl<0.8, 0.10<n-A¢<0.20) pjj‘ /p;‘?f (80< p’Tef[GeV] <140, Inl<0.8, 0.10<n-A$<0.20)
Entries 263 Entries 263
F T ™T T T LA IR B B B L B B B B BB 3 Underflow 0 F T T L BN B B B B B B LR R 3 Underflow 0
35 - anti-KT R=0.4 EM+JES —jOvertlow 0 35 -l anti-KT R=0.4 EM+JES —jjOverflow 0
- b-jet, Pythia 3 - b-jet, Pythia .
30 — - 30 - =
25 — 25 —
20 - 20F -
C Modified Poissan C 5
15 x2Ingy: 1.47 = 15 -
C mean: (-5.59+TP3)% n ]
10 width: (23.46+245)% 10 —
- ] C CutGaussian 7
5F — 5F x2Iny:1.39
= ] - - (-7.18+2J00)%
0' P I P | P TS NI T S SRR NN N R R 0' P P M mean( +-1;Cy
0 1 . 2 f 3 4 5 6 7 0 1 f 2 . 3 4 5 (5 S AR
pft/pf (80< prTe [GeV] <140, Inl<0.8, 0.10<x-A$p<0.20) p'f‘/pf (80< p'Te [GeV] <140, Inl<0.8, 0.10<r-A$<0.20)
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Entries 389 Entries 389
: LINLJL B N I B B B B N B B B B I B B B B BB B B R B Gduéslah T T : Underflow 0 : LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R : Underflow 0
- anti-K; R=0.4 EM#JES: 1.19 -JOQverflow 0 - anti-K  R=0.4 EM+JES A Querflow 0
50 . _ mean: (-9.23=1}1)% 50 . . -
- b-jet, Pythia width: (20.6611:67)% - b-jet, Pythia .
B . - AGaussian -
40t E 40 22Nyt 137
: 3 N mean: (-6.30+2-56)%
30 - 30 width: (20.19+2}16)%
20 - 20 -
10 - 10 -
O B L L L I L L Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il n O B L L L I L L Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il ]
0 , t1 . 2 f 3 4 5 6 7 0 _ t1 f 2 . 3 4 5 6 7
pf /p’Te (80< pf [GeV] <140, Inl<0.8, 0.05<1-Ap<0.10) p‘Te /p;‘_e (80< p’Te [GeV] <140, Inl<0.8, 0.05<t-A$p<0.10)
Entries 389 Entries 389
: T ™T T T LA IR B B B L B B B B BB : Underflow 0 : L T L BN B B B B B B LR R : Underflow 0
- anti-K . R=0.4 EM+JES fQuerflow 0 - anti-K . R=0.4 EM+JES A Querflow 0
50 :_ b-jet, Pythia _: 50 :_ b-jet, Pythia _:
40F = 40 E
30F - 30 -
- Modified Poissep - -
C ) : - C N
C x2/n4;:1.36 B N
201 mean:o(-7.94¢"|:41)°/o 20 -
- width: (21.79=TJ75)% C 3
10 C ] 10 - CutGaussian _]
N ] N 2%y 119 ]
C ] C mean: (-9.23= 1} 1)%
PR IR TR T T S T S T N N T N N RN ST AR P PR N NS T N T SN RN U UT N JO R T o
OO K f > f 3 4 5 6 7 00 ' f ) f 3 4 5 Wtrg2060= T 7)%
pf‘ /pre (80< prTe [GeV] <140, Inl<0.8, 0.05<7-A$p<0.10) ':‘ Te (80< p'Te [GeV] <140, Inl<0.8, 0.05<r-A$<0.10)
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Entries 207 Entries 207
s B S LA N L B R B B R LN B B B B Gduéslah T T : Underflow 0 : LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R : Underflow 0
30 anti-K; R=0.4 EM#JES: 2.38 —Qverflow 0 30 anti-K; R=0.4 EM+JES —Joverfiow 0
B . _ mean: (-8.52+112)% B . . 3
o5 briet, Pythia— idth: (15.44=2011)% o5 brjet, Pythia =
N . N AGaussian ]
C 3 C ) _ ]
F e - X%INgp:2.79 7
20 N . 20 N mean: (-10.28+3.37)%
- ] - width: (15.79=183)%
15 — 15 —
10 - 10 -
5( = 5( =
O : L L L L I L Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O : L L L L I L Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
0 , t1 f 2 f 3 4 5 6 7 0 _ t1 f 2 f 3 4 5 6 7
pf /p’Te (80< pf [GeV] <140, Inl<0.8, 0.00<r-Ap<0.05) p‘Te /p;‘_e (80< p’Te [GeV] <140, Inl<0.8, 0.00<-A$p<0.05)
Entries 207 Entries 207
: T T T T LA IR B B B L B B B B BB : Underflow 0 : L T L BN B B B B B B LR R : Underflow 0
30 anti-K . R=0.4 EM+JES —]Overflow 0 30 anti-K . R=0.4 EM+JES —{Overflow 0
[ b-jet, Pythia . [ b-jet, Pythia .
25 — 25 —
20 — 20 -
15 Modified Poissgh 151 -
C x2Ing,:2.34 C ]
10F mean: (-9.18+1J78)% 10 ]
N width: (18.41+2P2)% C .
u ] u CutGaussian
St = SE 2%Ing, 238
B . B mean: (-8.52+1412)%
oL b b b ] oL """'"'"'""'Wudrﬁ'15h4+'|-1)‘7
0 1 f 2 f 3 4 5 6 7 0 , f 2 f 3 4 5 6T
pft /pre (80< prTe [GeV] <140, Inl<0.8, 0.00<r-Ap<0.05) 'f‘ Te (80< p'Te [GeV] <140, Inl<0.8, 0.00<r-Ap<0.05)
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Entries 35

8 __I LI N B L L B B B B B B B B B B B B L B B B B B Gduéslah T I__ Underflow 0

- anti-K . R=0.4 ga@mlég; 1.16 ZjOverflow 0
7 :_ b-jet, Pythia m.ean: (-7.71£232)%

- width: (11.25:2B5)%
6F
5F
4F
3F
2F
1 E-

: L L L I L Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il
%1 f R S S

pJe /pre 140< pre [GeV] <200, Inl<0.8, 0.20<n-A$<0.35)
Entries 35

- |----|----|----|----_Underflow 0
8 :_ anti-K . R=0.4 EM+JES “Jovertiow o
7E b-jet, Pythia E
6F -
5F -
4 3 Modified Poissgh
3E- X2/, 0.98 3

- mean: (-6.5412_:92)%
o width: (12.64+292)%
N E

: I PRI R I SRR RN S RN TN T MR R 3
% T /S S S

pJe /pre 140< pre [GeV] <200, Inl<0.8, 0.20<n-A$<0.35)

Entries 35

8 __I LIS B B L B B B B B B B B L B B B H L B B B L B L B N B R I__ Underflow 0

C anti-K.r R=0.4 EM+JES ~J Overflow 0
7E b-jet, Pythia E
6F AGaussian —

- x2Inginf 3
5 = mean: (-19.69%34.29)%
4 C width: (5.32:3.35)%
3 -
2F —
1 —” E
O : L L L L I L Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :

0 jet 1rel‘ 2 ref 3 4 5 6 7

pT /pT (140< pT [GeV] <200, Inl<0.8, 0.20<n-A$<0.35)
Entries 35

8 = T L T LI IELIL B B B N B B B R -__ Underflow 0

C anti-KT R=0.4 EM+JES ) Overflow 0
U b-jet, Pythia E
6F -
5F -
4F 3
3F -
2F =

- CutGaussian 4
1E 2%INg,:1.16 3

- : : : : mean: (771+21 2)%
00 34 5WIOIn6II4:>+£-)é5)°A:

T

T

1 2
P /p™" (140< p’Tef[GeV] <200, Inl<0.8, 0.20<n-A$<0.35)
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Entries 61 Entries 61
: T T : T rrr [ rrrr [ T T T[T 1T Gafuéslah T T : Underflow 0 : LI B B B B L B B N L N L B N NN N B B LB L B B B B B B B IR B B R : Underflow 0
1 4 __ anti-KT R=0.4 W*d’lég 124 + Overflow 0 1 4 __ ami_KT R=0.4 EM+JES —4| Overflow 0
- b-jet, Pythia mza:_: (1'32::3:;22; - b-jet, Pythia .
1 2 -_ WI t . ( . i,_z_: ) o 1 2 -_ . __
= - [ AGaussian ]
10 - 10 lendof:1'38—:
C . B mean: (-2.72+816)%
8k — 8k width: (18.49:419)%
6F = 6F =
4t = 4t =
2F = 2F =
O M L L I L Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il : O M L L I L Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il I Il Il Il Il :
o t 1 f 2 f 3 4 5 6 7 (0 t 1 f 2 f 3 4 5 6 7
pJTe /p’Te (140< pf [GeV] <200, Inl<0.8, 0.10<n-A¢<0.20) p‘Te /p;_e (140< p’Te [GeV] <200, Inl<0.8, 0.10<-A$<0.20)
Entries 61 Entries 61
: T T : rrrrr|rrrr[ T T T T : Underflow 0 : T - rrrrr[rrrr [T T T T : Underflow 0
14 anti-K . R=0.4 EM+JES —JOverflow 0 14 anti-K R=0.4 EM+JES —Jovertiow 0
E b-jet, Pythia E E b-jet, Pythia E
12 - 12 -
10 — 10 —
8F - 8F =
= Modified Poisse = -
6 x2IN gy 1.27 6 —
- mean: (-7.91=344)% - -
4 _— width: (1772_ e 6)°/o 4 _— —_
- - CutGaussian
2 2 X2y 1.24 —
: (-8.61:325)%
O:H.l]..l....I....I....I....I....I.... O:H.l]..I....I....I....I....I.me.a?l(._.‘+.-sa)cy
0 1 2 "3 4 5 6 7 0 1 2 "3 4 5 UTTgTT20EZp9)%
pJT"‘t/pre (140< prTe [GeV] <200, Inl<0.8, 0.10<x-A$p<0.20) p':t/pr: (140< p'Te [GeV] <200, Inl<0.8, 0.10<r-A$<0.20)
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Entries 81
12 —_I LI N B L L B B B B B B B B B B B B L B B B B B Gduéslah T I_— Underflow 0
n anti-KT R=0.4 W*d’léo% 0.78 — Overflow 0
_ . _ mean: (-5.74=2417)%
10~ 1oL PYINE idth: (14.41=T3)%
81 -
6 -
4r- -
2r P -
O HI L L L I L L L I L L L L I L L L L I L L L L I L L L L I L L L L ]
0 jet , _ref 2 ref 3 4 5 6 7
pT /pT (140< pT [GeV] <200, Inl<0.8, 0.05<n-A$p<0.10)
Entries 81
=T T ™ T L LI LI B LN B R BB R =) Underflow 0
121 anti-K  R=0.4 EM+JES “Jovertiow 0
10 :_ b-jet, Pythia _:
8- -
61 Modified Poissah
- x2/ny:0.36 ]
41 mean: (-3.03+267)%
_ width: (15.27+2J74)%
2r P -
O:H....I...I....I....I....I....I...._
0 2 3 4 5 6 7
)

1
P /pff (140< pf‘ [GeV] <200, Inl<0.8, 0.05<w-A¢<0.10

12

10

(@)
= |

anti-K.r R=0.4 EM+JES
b-jet, Pythia
AGaussian

x2/Ngy: 0.11

mean: (-1.72+6]

Entries
Underflow

Overflow

81
0

0

o

1 2
p‘Tet /p;_ef (140< p’Tef[GeV] <200, Inl<0.8, 0.05<n-A$<0.10

3

4 5 6

7
)

B9)%
width: (20.69=H

38)%

12

10

ﬁIIIIIIIIIIIIIIIIIIIIIII

L

anti-K R=0.4 EM+JES

b-jet, Pythia

CutGaussian

lendof'

:0.78 4

Entries

Underflow

Overflow

81
0

0

mean: (-5.74+2}17)%

o

2

3

M PRI AT
4 5 W|oIn.6|4.4|:|753)%

1
p’f‘ /prTef (140< p’Tef[GeV] <200, Inl<0.8, 0.05<r-Ap<0.10)
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Entries 64
1 2 —_I LI N B L L B B B B B B B B B B B B L B B B B B Gduéslah T I_— Underflow 0
- anti-K . R=0.4 W*""ég: 0.38 . Overflow 0
= y . mean: (-3.98+2J71)%
10— oIt PYINRidith: (14.12:7397)%
8f -
6 -
4 -]
2r -
i L L L I L L L I L L L L I L L L L I L L L L I L L L L I L L L L ]
%1 f /S S-S |
pJe /pre 140< pre [GeV] <200, Inl<0.8, 0.00<n-A$<0.05)
Entries 64
AL NN N B B BN R B L B R Underflow 0
12 ._ anti-K  R=0.4 EM+JES “Joveriow o
10 " b-jet, Pythia ]
8f 3
6 Modified Poissah
C x2/ny:0.35 7]
41— mean: (-3.30+26)%
N width: (14.23+3J90)%
2 i
B |....|....|....|....'
O /S S S
)

pJet /p“af 140< pre [GeV] <200, Inl<0.8, 0.00<n-A$p<0.05

Entries 64
=T LN N B L B B B B B B B B B B B R B L B L B B B B B =) Underflow 0
12 anti-K, R=0.4 EM+JES Joverfiow 0
10 — b-jet, Pythia —
= AGaussian -
8 x2/N g 0.05
- mean: (-2.81:539)%
6 N width: (11.05+3431)%
4 7
2 -]
-I L L L I I" L L I L L L L I L L L L I L L L L I L L L L I L L L I-
0)
0 o 1 f 2 f 3 4 5 6 7
p‘Te /p;_e (140< p’Te [GeV] <200, Inl<0.8, 0.00<r-Ap<0.05)
Entries 64
T L T LI IELIL B B B N B B B R -_ Underflow 0
1 2 - anti-KT R=0.4 EM+JES —J|Overflow 0
10 — b-jet, Pythia —
8- ~
61~ -
4 7
2 - CutGaussian 7]
- X /ndof 0.38 -
i |'| mean: (-3.98+2J71)%
0 I || A T B BT BT AP o
0 ) 3 4 5 WaITgTE =5, 7)%

1
p’f‘ /prTef (140< p’Tef[GeV] <200, Inl<0.8, 0.00<r-A¢p<0.05)
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back up
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L+ jet

® el medium++ , mu_medium

e AR(jet,el_ medium++) < 0.1 DjetlFelectron& 9 5

® Trigger(zee): EF _el2Tvh loosel (multi-electon,

unprecaled)

® Trigger(zmumu): EF_mu24i_tight || EF_mu36_tight

® B-tag:MVI > 0.8l

9 (nominal efficiency/70%

)

Variable

Selection

description

€1, €2

ARj, =

pr/en

leading jet
VA2 + (Ap)?

JVF(jet2)

E? > 20 GeV

80 GeV < M,+,- < 116 GeV
In°1?| < 2.47 excluding 1.37 < |n°] < 1.52
P < 0.8, |JVF| > 0.25 if pr<50 GeV

> (0.35 anti-k; R = 0.4 jets
> (0.5 anti-k; R = 0.6 jets

< max (0.2 X p%, 10 GeV)
> (.25, if  [p/°?| < 2.4 and pr<50 GeV

electron pre-selection

jet pre-selection
isolation/topology

radiation/topology
JVF  restriction for
sub-leading jets
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® AR(jet,gamma) < 0.1 Djetldgammad& 95 (fo/2 Ugammald TERDSE
Hzmicd) o

gammat jet

® Trigger:EF g20 loose || EF_g40 loose || EF_gb60 loose ||
EF ¢80 loose || EF_gl00 loose || EF_gl20 loose

® B-tag:MVI > 0.8119 (nominal efficiency70%)

® selectionlC D L\C & https:/twiki.cern.ch/twiki/bin/viewauth/
AtlasProtected/GammaljetCalib2012(CF¥F U< EWTH S

T
E?E cluster / ( Z p:[lfaCks)

leading jet
A¢jet-y

jet2
T

JVF(jet2)

Variable Selection description
leading y pr—>>85GeVand || <1.37 photon pre-selection
Evke < 3 GeV v isolation

€[0,2] (single-track conversions)

€[0.5,1.5] (double-track conversions)
' > 12 GeV and [7®!!] < 0.8

> 2.9 radians

<0.2x p%

>(.25, if |2 < 2.4

jets faking photons

jet pre-selection

radiation suppression

radiation suppression

JVF restriction for sub-leading jets

%pT_gamma > 85GeVIZEK UL TLV/RL)
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